BB »=v s smisitanm s mpi
=~ Pt ERUE

ﬁﬂﬁﬁﬂigﬁﬁjgi '''''''' Nl T LSk
_____________________________________ 'I L 4E L i s ﬁ= ﬁﬂ_
PPttt 3 THR4EZ 7% b

fm%ﬁ$#mﬁgﬁﬁ
S, MR <
IR TR R

f&: Tt

B RITH
f
A

QﬁW“ﬁﬁﬁ%”

fi: Tt S

@ EFntiE RS A B TR
LB “Tt R OAZE, FEE

|/
O AEAFE AR “ Rt A6t ERIESEN P EANE,
Lﬂﬁﬁﬁ“igk%ﬁﬁw

[H&/r] it %H{%%Fﬁﬂﬂﬁﬁﬂjkﬁfﬂiéz’ﬁi ’%ﬁifﬁ%ﬁ*ﬁ%?ﬂci
N I i 2 v R



BB = o o A B

[%]12-81 H AR ANUREFZFEE SN . A FXTZHIUR
I P e ARG DURE RSN W BLAE = AR R IpL
PREEA T ), B AR sk fmdeie (SFaES . Ha
202141 E . F2F:E . BIFH. F4FE o alHELIR400
&+ 6005 80057005, FHEHEMNSHIt. WHlELIARALR,
WUR R A BIRE e — OB BT 1%~ 1. 5% 8] . /A H]20214E 1Y
ANZRE Sizb R AR IR 4EAE 3% 437 940 00076+ 400 000JT 360 000
JCAI700 00070 (fEE FHARATAE SRS 50%,  350% A FEH 1 A4
B o 2020412 H31H,  “Hiitfafii—r= an i E R UE—AHLR”
FHH SRR H 240 0007T-




BB == st Homis ik st o il ity i

(1) FHIZTEE. KEFMBERIERHE (4EB8%)
f&: Tk —rs i ERIE—HLUR 40 000
T AT 20

Jinl

000

JE A4 R

20 000

RLAF A Pt 5 20

=400X 50 000X (1%+1.5%) +2=250 000 (JG)

fir: 555 A —r= il i B PR UE—HLIR 250
000

B P AU — = n i E PR IE—ALIR 250

000



BB = o o A B
(2) F2Z=ER. KAEF-MRERIETRH (418%)

fir: PTE S5 —r= an i E R UE—HLIR 400 000
B AT 200
000
JR AR 200
000

RLRFR A TR 57 058 80
=600X 50 000X (1%+1.5%) =+2=375 000 (JG)
fir: E BT A —r= i B PRE— LR 375
000
B PvH A d i ERIE—ALR 375
000



BB = o o A B

(3) ZE3IZFREE.: KAEFMBRERIESH (4EE5%)
f&: Tk —rs i ERIE—HLUR 360 000

T RATEEX 180 000
JE AT R} 180 000

REAA I T T £ 45 4 0
=800X 50 000X (1%+1.5%) +2=500 000 (JG)
fir: B8NS A —r= i i & R UE—HLIR 500 000
B BT AU — = i B E R UE—AILIR 500
000
FIFEFOR, “Witffi—rmBEERIE—VUR” FIER
#i=425 000+500 000—360 000=565 000 (JT)




BB = o o A B
(4) AT, KAEF-MRESRIETRH (48%)

fir: PTE S5 —r= an i E R UE—HLIR 700 000
B WRAT K 350
000
JR AR 350
000
SR BT $7 5 880

=700X 50 000X (1%+1.5%) +2=437 500 (JG)
fir: 555 A —r= il i B PR UE—HLIR
437 500
B P AU — = n i E PR IE—ALIR
437 500



